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Al 1 bar (CCly) 350.0 K
85.8J K mol™ 298.0 K CCl,
A2. (298 K) 1 bar 50 bar
a) (Ha, )
b) (NaCl, 2.168 gcm™, )
A3. 1 bar, 300 K He ( , =5/3) 32
bar
A4. 298 K Bry(g) + 2 NO(g) <> 2 BrNO(g)

__ [p(BNO)/ p°]?
[p(Bry)/ p°1lp(NO)/ p°1?

(298 K) Bry(0) NO(g) BrNO(g)
AsH® | kI mol™ 30.9 90.3 82.1
Sw® /I K mol™ 2455 210.8 2735
B
3 2
B1. 1 bar (373.15 K) 40.66 kJ mol™
0.958 g cm™
(373.25 K)
B2. A
( ) B A B
A, B T, Po i
Tex (: TO)! Pex (< po) B
B Dex
B A
1)A 2)A B 3)A
R A
Vo So A y (To,
Texs D0y Pexs R, Vo, So, ﬁ
a)A
b) A
B3. (CH3COCH3) (CHCIy) CHCl,4 0.4693
74.166 cm® mol™, 80.235 ¢cm® mol™ 1.00 kg
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- g=9.80665 m 57 ( ) Na: 22.99 S: 32.07 Cl: 35.45
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